Al &0l & AF RS Al A
2013EE = 13 LB
I 200 M9l4el
B 210 FAEAHILISY
s 212 NE240 (£l ®9)
¥.o-g-2 ol&rey pE=L! HimES]
= | 330,360,567 262,779,679 67,580,888
200 A9l 28,451,454 10,642,431 17,809,023
210 ZAE A 24 4,962,010 5,411,100 449,090
212 A28+ 941,000 691,000 250,000
212-08 JIEIIEE 811,000 561,000 250,000
[ 2ers | 811,000 561,000 250,000
< ATEAAD > 265,000 15,000 250,000
OYZAUYSLE AIBZ +¢ 250,000 0 250,000
214 Aiael 717,300 656, 100 61,200
214-08 2|2 AII%Q 569, 400 508,200 61,200
[ 2ersi ] 569,400 508,200 61,200
< BAA > 569, 400 508,200 61,200
O=24 +LHAIZHI 106,200 45,000 61,200
—QIZ2UR LS 60,000 0 60,000
—BEY NIYES 1,200 0 1,200
215 Han=e34e 335,510 1,005,800 760,290
21501 H4n224+Y 335,510 1,095,800 760,290
[ 2ers | 335,510 1,005,800 AT60,290
< MSSIHD > 296,310 1,086,600 AT60,290
ORI X2 AIZ Al 0 760,290 AT60,290
220 LA AISl4el 23,489,444 5,231,331 18,258, 113
221 THAOH2t 42l 104,410 0 104,410
221-01 BRTANLAHBLUZ 90,000 0 90,000
[ 2ersi ] 90,000 0 90,000
< HISSIHD > 90,000 0 90,000
O=RML h2t4el 90,000 0 90,000
22103 R4S 14,410 0 14,410
[ 2ersiy ] 14,410 0 14,410
< MSSIHD > 14,410 0 14,410
OZRML §2t4el 14,410 0 14,410
222 2U0i3 18,122,963 3,300,000 14,802,963
222-01 =NHY 02 18,122,963 3,300,000 14,802,963
[ 2ersi ] 18,122,963 3,300,000 14,802,963
< HISSIHD > 18,122,963 3,300,000 14,802,963
O=NHY0IZ 18,122,963 3,300,000 14,802,963
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Jal

fr 200 Alel==
220 SAIENI2 =
223 NEL0IE3

0% re 0

(ete: &

0

)

0

Ol toH JIEA Hus2
223 MEALO|E3 2,606,979 500,000 2,106,979
223-01 =22 XZAt 2,280,071 300,000 1,980,071
[ LBHEIH ] 2,280,071 300,000 1,980,071
< MIS3H D > 2,280,071 300,000 1,980,071
O=10Ex2 AMEE 2,280,071 300,000 1,980,071
223-02 Al - SHIEEZ2At 326,908 200,000 126,908
[ LBtEIH ] 326,908 200,000 126,908
< MISSIH D > 326,908 200,000 126,908
OZHIBXZ Al=d 326,908 200,000 126,908
224 Mz 793,664 0 793,664
224-03 JIEtSIAHE Y3 793,664 0 793,664
[ LB ] 793,664 0 793,664
< MIL3IH 2 > 793,664 0 793,664
OME2NZ S43 793,664 0 793,664
227 Y= 1,047,976 1,035,576 12,400
22702 LBRES 1,047,976 1,035,576 12,400
[ LB ] 1,047,976 1,035,576 12,400
< ZHeHEDt > 1,047,976 1,035,576 12,400
OENMADIEE AR 1,047,976 1,035,576 12,400
228 J|Et==¢ 809,997 392,300 417,697
228-08 J|22 100,000 0 100,000
[ LBHEIH ] 100,000 0 100,000
< AL > 100,000 0 100,000
O==23d| =4 100,000 0 100,000
228-09 1214 339,697 22,000 317,697
[ L5 ] 339,697 22,000 317,697
< FUU=SKA > 168,362 0 168,362
Oo2szdselu 168,362 0 168,362
< 22t > 43,800 0 43,800
O8Ed 224 X 73,000, 0002 *60% 43,800 0 43,800
< 2EF=F1 > 105,535 0 105,535
O=sg3383 FE3 SN 78,900 0 78,900
Osgdd= FE= SN 26,635 0 26,635
300 XIZwSAl 153,998, 197 130,113,193 23,885,004
310 KW =Al 153,998, 197 130,113,193 23,885,004

- 102 -




-

300 A=Al
310 X2 2Al
311 N W2A

00t 1 0

-

(ete: &

0

)

0

.32 Ofl b IEH blms2
311 X W2Al 153,998,197 130, 113,193 23,885,004
311-01 ESNEA 147,039,000 127,336,000 19,703,000
B3| ] 147,039,000 127,336,000 19,703,000

< N3 A > 147,039,000 127,336,000 19,703,000
O2Su2A 147,039,000 127,336,000 19,703,000
311-02 SEn=2A 702,200 0 702,200

[ Lersi ] 702,200 0 702,200
< ZHIoHE Dt > 2,200 0 2,200
O=BDIAL A 2,200 0 2,200

< AL > 700,000 0 700,000
OQQAEHA 2000l ALY 700,000 0 700,000
311-03 2 2A 2,511,143 2,777,193 N266,050

[ 2e3H ] 2,511,143 2,777,193 266,050
< D=0l Aaral > 2,511,143 2,777,193 A\266,050
O=2AWEA 2,511,143 2,777,193 A\266,050

— L QIMEIA| 4 2| 0 1,058,072 1,058,072
—OISEXAL 23X 379,950 257,478 122,472
—gsts OIs3AXA 136,548 107,146 29,402
—IIHE YIS 38,880 18,240 20,640
—ABIS XA Q14| 770,832 200,000 570,832
—3322AY 100, 981 94,185 6,796
—sSQOITI X2 RIRAIY 250,040 230, 160 19,880
—%2|2 2EX 10,000 0 10,000
—33THZ THTRY 12,000 0 12,000
311-04 SSANSA 3,745,854 0 3,745,854

[ LersH ] 3,745,854 0 3,745,854
< N3 A > 3,745,854 0 3,745,854
ORSAWEH(2012E 2XH2) 3,745,854 0 3,745,854

400 ZHWNSSLUISE2 3,491,790 3,466,790 25,000
420 MB2E2 3,491,790 3,466,790 25,000
21 HB2HES 3,491,790 3,466,790 25,000
421-01 WY BEES 3,491,790 3,466,790 25,000

[ Lers)H ] 3,491,790 3,466,790 25,000
< N3 A > 3,491,790 3,466,790 25,000
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& 500 BEx=
2 510 I NEX3S
8 511 2nwxas (crol: &2
ooy ol&rey pE=L! imE==]
O st Aogd X 20,619 20,625 A6
OXEX AFad 31,400 0 31,400
< EXsXI > 6,300,863 1,262,760 5,038,103
OXLEXNFAERS((F)LAHOIXLNAL S 300 J1) 4,576,128 0 4,576,128
OXBENSTEEZS(SI=2L ML) 444,375 0 444,375
OMINSK B2 & SHQIZt 2EAI(20124) 17,600 0 17,600
< 2ottt > 3,402,428 2,659,298 743,130
OgZ ML= 40,000 0 40,000
OSZAL SN =] 700,000 0 700,000
O=3tl Set2eIMdHA ASAE 50,880 50,750 130
ORISR DISSAL KIS 3,000 0 3,000
< AMEAHD > 7,578 2,578 5,000
O MHIA(AEEHTH) N 5,000 0 5,000
< SF=X > 3,620,941 3,457,508 163,433
OHbIE=HEe 3 13,262 0 13,262
OLRIHI0I A+ DB S 276, 184 132,263 143,921
OBZUNE 0ISE 54,884 44,300 10,584
OZXE A 57,612 59,034 A1,422
O4tE 2 XICH 2 181,322 184,234 22,912
< 2SF=FL > 16,580,304 14,478,175 2,102,129
Osezgzsy X 43,200 36,000 7,200
ORASSEEX(NF)AEM KJAY 9,557,920 8,037,400 1,520,520
ORASSEMESH A 22/l 30,817 32,082 A1,265
OBAE| QHEZFICH Alg) 0 3,240 £3,240
OXtg RHUAMEX] sS4z X 11,880 4,960 6,920
OS0ESHRIN (PR 2EEH) 18,000 0 18,000
OJ=ELA(HLES) 179,175 177,593 1,582
O=4=018F Crst MY KIA 420,000 350,000 70,000
OAE USRS (LBH0IAIE) 169,000 112,000 57,000
OAE20SZNE (U 2EXI) 135,000 0 135,000
OQIAUMaAIE 22K~ 15,680 0 15,680
O0|=8&xeld A=FAIL 575,000 827,000 A252,000
OULTIZZAIE (CHIZ2HE) 176,385 58,000 118,385
OAERUZEINE(DEHIIL AL TIR) 112,000 200,000 88,000
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& 500 X3
2t 510 2NEX3S
g 511 2DBxE3S (ce )
ooy ol &bt plE-L! imE==]
O E=HAE X =K 927,080 735,880 191,200
OLRSEHESY 300,000 0 300,000
OGAPRIZSSIt & H At 7,428 9,530 N2, 102
OXSZHIZXJA(ELINEN 6,100) 566,650 566,651 A1
O=HIZ=SSHUHAIA 148,210 140,960 7,250
< off k=4t > 2,240,873 3,849,453 1,608,580
OngE BH 25AME 36,000 30,250 5,750
OsHIE X E=3HALY 432,240 2,886,570 A2,454,330
Ooo¥ad=saAg 795,000 0 795,000
OognE TERel BEM XA 40,000 0 40,000
OSSR B2IAY 5,000 0 5,000
< ZHeHE Dt > 598,380 411,030 187,350
OXSSSHL A2l ArS 221,946 98,127 123,819
O0IEJ I sEAE 0 40,000 240,000
OsHIXNSMA A A =H 18,058 12,700 5,358
O(0IH1) MBI = 2 U RI2I 2B Al 188,738 125,050 63,688
O(OIBI) ABIEI AN X2 37,234 31,849 5,385
O=ZHEZHMH 6,700 0 6,700
OXXISHH XIHESHAL 22,400 0 22,400
< AL > 7,087,691 117,081 6,970,610
OTBHSI BT RHIAR] 2,880,000 0 2,880,000
OR=MFAIE EXIAY 300,000 0 300,000
OLotEEHIAS 1,748,610 0 1,748,610
OXg2Ze|SLEHM HE=Ar 1,900,000 0 1,900,000
OXlZ2e| SRR NEAr (ARXIR) 140,000 0 140,000
OTHTHS orEst= e 2,000 0 2,000
< SAICIAHRI D > 28,500 0 28,500
OLIXE SYINIESZHAAE 25 28,500 0 28,500
<EHA > 329,786 351,326 A21,540
OstdIo| oAt TIGHAL A &K= 32,460 54,000 221,540
< sHJI=dH > 885,685 786,585 99,100
OgaisEe I =X 16,850 9,350 7,500
OZA SERA NEAY 100,000 0 100,000
O SHEHTIAA 0 8,400 8,400
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D 500 2X3
2 510 2WEXIS
5t 511 Buwxas (Erel: @)
¥.o-g-2 ol&rey pE=L! HimES]
511-02 29 - (L NSHsHEES 23,379,299 21,355,779 2,023,520
[ ersl | 23,379,299 21,355,779 2,023,520
< 8PN > 1,139,781 1,139,779 2
OYTAIL 545,781 545,779 2
< et > 5,154,000 5,054,000 100,000
O M2I| HatAr 100,000 0 100,000
< ALY > 7,026,518 5,103,000 1,923,518
ORIIBHHIAN (0F22l) 1,603,518 0 1,603,518
ORDIBHEHIAN (113 =) 320,000 0 320,000
511-03 712 5,108,770 4,391,327 717,443
[ ersi ] 5,108,770 4,391,327 717,443
< 232 > 83,890 118,078 134,183
OSSIBZHLA ESH| 20,744 0 20,744
ORI EXIT 4 30,000 0 30,000
OLIR0 2ZOHHIXE M 15,000 0 15,000
OS2/ A 0 99,932 199,932
< AEELQD} > 490, 444 128,060 362,384
OMEBHSAL SX KAR(ZZD) 350,000 0 350,000
OAZEHIRHAIY 31,148 28,700 2,448
OLBMEH SIS BHXIAL 60,720 55,200 5,520
OOZANY MBHSKEK BHXIAY 48,576 44,160 4,416
< AT > 3,433,913 3,189,833 244,080
OJiEgel (X 228TE) 6.000 9,000 £3,000
O'12HE SISO 1,350 0 1,350
O'13UE SHMSOIHIE 7,950 0 7,950
OBAZ HACP IS KIZAIS 19,200 0 19,200
OBAAIA BiCHaH XIRAS 303,675 148,650 155,025
Ot 2R34! X9 84,741 76,186 8,555
OD+DBIAIL BOISAIY 80,000 25,000 55,000
< Akt > 48,000 0 48,000
OZYE IYE HYHIIS S0 30,000 0 30,000
O M2T| MATBHE HXIAL 18,000 0 18,000
< AL > 973,873 876,706 97,167
OZs2IALY 6,410 7,715 A1,305
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D 500 2X3

B 510 BN2X3S

5 511 mueBxas (el ®el)
¥.o-g-2 ol&rey pE=L! HimES]

OFIN 8IIRSY ALK 91,000 0 91,000
OXIOHXI 22| ALeS 44,945 47,311 12,366
OR0F AHE I = A2 ALY 16,989 16, 124 865
OLALES 53,750 54,216 466
Ogolel FE| 49,304 49,862 1588
OEXt o2 KA 87,781 92,781 15,000
OL-RErRISES 91,300 76,300 15,000
OFYALBLIAY 46,661 46,664 ~3
520 Al - SHIEE3S 20,030,962 12,278,024 7,752,933
521 ALCHISE2S 20,030,962 12,278,024 7,752,933
521-01 Al - SHI2X3S 20,030,962 12,278,024 7,752,933
[ ersl ] 20,030,962 12,278,024 7,752,933
<Ol=oara > 20, 124 0 20, 124
O HI 2 ZAIS 20, 124 0 20, 124
—2 B2E SIBAHEHEDIH) 20, 124 0 20, 124
< FoI=xA > 9,627,307 7,636,724 1,990,583
O=DBFAIS 5,634,309 5,232,348 401,91
— B+ (KHARAS) 48,314 81,176 132,862
-1V ES={PIES 32,862 0 3,862
—XH0tSHE 2YXIE 181,265 197,327 16,062
—OIS=X LA TR 20,601 17,658 2,943
— QA0S AFHY 5,768 5,826 158
—AROIPSEX 965,901 846, 164 119,827
-2y F2y= e 29,030 25,123 3,907
—0l2I0I& X8 46,695 33,689 13,006
—ESESAHIA(DAIRIIH) 621,684 613,072 8,612
o IEYNETpNEIPNS:: 26,937 25,641 1,29
—ZO§OI T = 20| A 37,507 32,526 5,071
—H OIS SRIR ALY 135,778 114,342 21,436
—XIALEIMHIA EXHAS 53,010 48,711 4,299
—AIE0I0I80tE YS4T 518,685 446,981 71,704
—J|EMEEHF0] 976, 171 975,380 791
—2AZ=NNE 22,550 14,432 8.118
—COIRUAIM &5 142,757 127, 121 15,636
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& 500 X3
2t 520 Al - EHIEXZSS
g 521 ALEHIEX3S (Etel &3)
- il st pJEL! HIDE2
—Ot0I= 20| XIAAE 35,858 30,439 5,419
—J=L8AH3 262,701 247,075 15,626
—C2sIEXIAEH 23 39,414 39,154 260
— QIR AL 360, 150 266,220 93,930
—Zg0hIE3zgd&t 14,200 0 14,200
—OtsAld JISEZAS 12,000 0 12,000
O2HWRMAS 370,181 846,926 ANAT6,745
— L QIMEAIL 2| X 0 480,563 A\480,563
—Ots=4KI= 45,516 53,574 N8,058
—O0ls=XIAE 22X 67,050 55,174 11,876
OEHIEEAY 3,615,348 1,550,700 2,065,367
- d=ETA 4,320 3,600 720
—ZOHRIEOIAlE Ma=TAt 1,385 1,210 175
—5.18%73A K& 13,440 11,040 2,400
— NIt OIAlE 23| 176,346 209,014 N\32,668
—CQIMEIAIE BALL EE 12,720 13,800 1,080
—IHIOt=QIAIE SALL EE 5,240 10,920 25,680
—EsAE BIRIS X 26,211 15,869 10,342
—3|s Ots=4lH] 179,778 162,243 17,535
—A&0ts ME=2E 3,706 3,780 AT4
—ANEEAX EEH 12,384 12,300 84
—AIZ0tS MTETY 3,480 3,960 A480
—A&0ts HSHRISHI} 0 500 A500
—A&0tE S0 &H| 250 150 100
—A&0ts w=+H| 300 700 2400
—2AEAEHIMEML RIZS 2,160 2,800 2640
—2EAEIMEAIN EE R == 900 1,200 A300
—OBAl el HE 1,226,496 793,800 432,69%6
—XS0tsHH 2tAld] 14,616 10,528 4,088
—S4E HEEX 2,500 1,500 1,000
—IJPAQHMXIE D | XA 22,240 4,000 18,240
—EZ A= LR AT 14,400 14,914 Ab14
—U2PEETE A0 4,419 4,420 A1
— L QIMEAlE 2| 1,587,134 0 1,587,134
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& 500 E?F_E.‘

2t 520 Al - EHIEXZSS

g 521 ALSHIEERZS (S & &)
-3-8-8 Ol st plEL! HDE2

—MASE stMu=sH| AEE XA 10,690 0 10,690
—Lolojd JIE-A} 20,000 0 20,000
—SRSCIUH AN EHAE ANel HE 2,500 0 2,500
< EXsXI > 986,752 0 986,752
O=12 XA 956,752 0 956,752
—KLENSTUEES((F)LAOIXLAAL S 304 1) 762,689 0 762,689
—NLENSETE XS (SH2LMEL) 74,063 0 74,063
—XMIIKSX B2 ¥ SHQIZe REA(20124) 120,000 0 120,000
OZHIE XA 30,000 0 30,000
—201248 X0 JIEHAIE XI& A 25,000 0 25,000
—20128 MEENFXUY R4 SHUS ALS(H2T) 5,000 0 5,000
< NS/ H Dt > 89,500 0 89,500
OSHIE MY 89,500 0 89,500
—=3RMetze] 14,500 0 14,500
—201348 XY 2+2 el2id| 75,000 0 75,000
< SR > 17,559 15,559 2,000
OSHIE XA 16,999 14,999 2,000
=G| HIE2 ANld=E X 2,000 0 2,000
< o2t > 1,000,389 842,600 157,789
OZNEXAMS 690,997 600,971 90,026
— 2t SER2IMA P2SAIL 10,176 10,150 26
—=At HIiS® F=EHEHI 90,000 0 90,000
OJISEZAY 2,335 13,029 210,694
— 2SR AIS 0 10,694 10,694
OZHIEZAMS 291,957 213,500 78,457
—2013 & CHE=H X2 A 15,000 0 15,000
—2012 ZtZHAH AANEHI 10,000 0 10,000
—EXIE23H =JH01Z D] 10,497 0 10,497
— 23 E+FHI(F0l= 50,000 0 50,000
—oi==Z HoAIZ ZH| 25,960 30,000 24,040
—o18} ot JHEALY 2,000 5,000 A3,000
< AM=AHD > 64,016 4,701 59,315
OZHIEXZAMS 59,000 0 59,000
-8 2 0IEE? HSsAIE 30,000 0 30,000
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500 Ex=
520 Al - EHIEX==SS
521 ALEHIEXESS

o
]
L
0

5. Ofl e plb-L GimE==l

—Xl403] HBHSEHRAT 10,000 0 10,000
—2013 3IEH =B 5,000 0 5,000
—SHAEXE EIHE AES2|0 Hal X 9,000 0 9,000
—2013 SI&HH 200 5 5,000 5,000
OJIZ2EEAIY 4,005 3,690 315
— AT XA A 4,005 3,690 315
< A= > 513,545 473,745 39,800
O=DEXAY 446,640 410,290 36,350
— A YR CH Y 81,594 82,905 A1,311
— ARIHIO| QU A E & 48,503 23,818 24,685
— A AHFH(AERX 654 1,200 N546
—HHIESHER2 13,522 0 13,522
OZHIE XA 66,905 63,455 3,450
— A2 Y 14,416 20,416 6,000
— OS2I A XY 3,000 0 3,000
—gsHIE 0tse 6,450 0 6,450
< MF=FD > 3,837,921 2,076,271 1,761,650
OZHIEEAA 638,358 550,056 88,302
—SAUPHAHLE XA 14,400 12,000 2,400
—SAED| QHEAICHA 3,735 4,320 A585
—XSRHOIMER| S22 2,376 992 1,384
—GAPOIZS =Tt OHEAA 954 1,270 N316
—DEEIM FHXMAAR 0 2,400 2,400
—NEIN HUHCKY 6,000 3,000 3,000
— AU BRI (LA 25,350 16,800 8,550
—ASERAUSEINA (K 20,250 0 20,250
—QIMUTHBHAIE 23 7,056 0 7,056
—URSHUCKY 100,000 0 100,000
—0ISSeXeIE AXE 34,500 82,000 A47,500
—OURIBZAIL(CIEE 26,458 8,700 17,758
— NS ZE NS (DI IFRITHHHAIZ X 2) 16,800 30,000 A13,200
—ZEBHHIEXNA(EY 72,855 80,950 8,095
OJI2EEAA 86,515 53,939 32,576
—ILDEZALBEUNSIAL 36,000 11,250 24,750
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